Chapter 9: In Class Exercises

1. To test 
[image: image1.wmf]4

:

0

£

m

H

 versus 
[image: image2.wmf]4

:

0

>

m

H

 a random sample of size 36 is taken from a normal population with a known σ.  Suppose that a computed test statistic z = 1.6.  What is the p-value of this test?  
2. A random sample of 80 companies who announced corrections to their balance sheets took a mean time of 8.1 days for the time between balance sheet construction and the complete audit. The population standard deviation is assumed to be 1.3 days. If the claim is that the population mean is greater than 7.5 days, test the hypotheses for ( = 0.01. 

3. A cereal manufacturer is concerned that the boxes of cereal not be under filled or overfilled. Each box of cereal is supposed to contain 13 ounces of cereal. A random sample of 31 boxes is tested. The average weight is 12.58 ounces and the standard deviation is 2.5 ounces. 
(a) State the null and alternative hypotheses
(b) Calculate the test statistic to test these hypotheses. 

(c) What is the critical value for testing these hypotheses at ( = 0.01? 

(d) Make a conclusion at ( = 0.01.

4. A recent study conducted by the state government attempts to determine whether the voting public supports further increase in cigarette taxes. The opinion poll recently sampled 1500 voting age citizens. 1020 of the sampled citizens were in favor of an increase in cigarette taxes.  The state government would like to decide if there is enough evidence to establish whether the proportion of citizens supporting an increase in cigarette taxes is significantly greater than 0.66.  

(a) State the null and alternative hypotheses 

(b) Calculate the appropriate test statistic to test the hypotheses. 

(c) What is the critical value for ( = 0.01 to test the hypotheses? 

(d)  Can we reject the null hypothesis? 
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